3UDFRZQLN 5RINGDG GU -\U\O\FK 7DPDUD 7\J

/DVIRB

o
™
=
n
oD
D
7N 7N 7N
ODIHPDIAND Z Gl ODIHPDIAND iZ GU 1DXND R
~\IN\FK 7DPDID =% ~\IN\FK 7DPDID =% SUTHGVICELRWIZIH G
.27/ .27/ _\I\\FK 7DPDID =%
= = INJRGQLX JDIHFLD -2/
L PLOXI
a
N 7\J
T
1DXNDR
SUTHGVICELRIIZIH G
_\IN\FK 7DPDID =%
27/
= NJRGQIX  PLOXI
7N
$QDIID GDQFK ] DUNXVIHP NDINXIDFNIQ\P GU . \UNNFK ™N ™N
7DPDID $% .20387(52:% O/ $~
BIDIVIAND
Z 7\G] GIDIVAND | |PDIHPDINF
= PDIHPDINF| [1QD GU
Q SQDLID GDOVFK] 100 G | [I\ANFK
o DUNXVIHP NDINXIDF\IQ\P Bk | 7o
60 - \(\NFK 7DPDUD $% -\ 70RO $
.20387(52:$ 7DPDID $ | |%
o/ s- % 0/
o/ $-
e
o
©




